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! 100kN/MZH#BZ. % — -~ — —|3mEEZS -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZBZ D -~ — — —
ThLst 1.00| 0.00 ~ 7.05 89.42 | #nkist | 0.00 ~ 0.00| 1.73 8.75 zhLs 1.00 | 5,00 ~ 8.82 8942 | #nkist | 500 ~ 882 | 1.73 8.75
) 100kN/mZ#8x4%| 100 000 ~ 1.29 119.56 |3m%EH#BZ 5 -~ - - —| 100kN/ %8 %% | 1.00 |1054 ~ 14.63 119.56 |3ImZEHBZ 5 -~ = - -
zh st 1.00| 1.29 ~ 9.08 100.00 | Zh 4t | 0.00 ~ 9.08 | 2.21 11.17 znLs 1.00 | 500 ~ 10.54 100.00 | Z=hLlst | 5.00 ~ 1463 | 2.21 11.17
3 100kN/m#z#%2%| 1.00| 000 ~ 1.38 120.95 |3mZE#BZ % -~ — - — | 100kN/m%#%2%| 1.00 [1056 ~ 14.98 120.95 |3mZE#EZ5 — ~ - - —
zhusn 1.00]| 1.38 ~ 9.16 100.00 | a5t | 000 ~ 9.16 | 2.23 11.25 Zzhus 1.00 | 500 ~ 10.56 100.00 | Zhkist | 5.00 ~ 1498 | 2.23 11.25
A 100kN/m%#%%| 100 000 ~ 042 106.26 |3m%iBZ % -~ — - —| 100kN/m#%#E%% | 1.00 |1054 ~ 11.72 106.26 |3mEHBZ 3 -~ — — —
zhLst 1.00| 042 ~ 8.21 100.00 | Zn A4t | 000 ~ 8.21| 2.16 10.93 ThLs 1.00 | 5,00 ~ 10.54 100.00 | #nlist | 5.00 ~ 11.72 | 2.16 10.93
100kN/mM%#B 2 % ~ 3mEBAS ~ 100kN/mM%#E % % ~ ImEHEZD ~
ThLst ~ TnLs ~ TnLst ~ Zh st ~
100kN/MZH#EZ. % ~ ImEBRD ~ 100kN/mM#%#B% % ~ ImEHBZ S ~
zhst ~ zhs ~ zhus ~ zhst ~
100kN/MZH#BZ. % ~ 3mEHBRS ~ 100kN/mMZ#8 2.5 ~ ImEBZD ~
Ths ~ zThus ~ zThus ~ zh s ~
100kN/mM%#B 2 % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3ImEHEZD ~
ThLst ~ FNLS ~ TnLst ~ Zh st ~
100kN/mMZ#BZ % ~ 3mEHEZ S ~ 100kN/m#%#Z % ~ 3m%EZ S ~
zhs ~ zhs ~ zhs ~ zhst ~
100kN/MZH#EZ % ~ 3mEHBRS ~ 100kN/mMZ#8 2% ~ ImEHEZD ~
Ths ~ zhus ~ zhus ~ zh st ~
100kN/M%Z#BZ % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3mEHEZD ~
FhLLSH ~ TnLst ~ TnLst ~ Zh st ~
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zzhs ~ zhus ~ zns ~ ZzhLs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ Zzhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ ImEBZD ~
Zhs ~ Zzhus ~ Zzhus ~ zhLs ~




